A FL AG B *x
g S THEE K 4 |hiE B33 0 FEisHER (Bt TF B 17 % Pt \&LhiEGeN
JEAT I |5 F0 74 SHISH A OAF T4 8A29H | R I ES % A LB B |0 T4 5H 8H 9304
THE L=152. Om e W=3. 1~7. 7Tm
W 5| - E#BTLT  (FAEBRIEAsI3 t=>5cm) A=547n EHREOHMB | HIZERLAEESE LD
« REEEIE (AR A RM25 t=3cm) A=547n
LK) 4 %A 2,970, 000 TEAmES (Biik) 2,915, 000 oA o |[E] A ( M)
. % 1 [A] % 2 E
A L ¥ F 4 — — T =
PN KL | JIE A3z A L %A JIE A7
—TEER (BR) 2,700,000 1 TEAL (<) #HLZE 92.62%
R (BR) 3,500, 000| 4
GIRPN =51 3,460, 000/ 3
(BR) =Sk 2,700,000/ 1
(KR) AT 3,550,000, 5




A L i ®= %
Gy SFn TR oK 4 | bAKERKEMRLE (FEHm) & 1T % Pr |\ ZiifeE N
JEATHIM [ 74 SHISH LA T TH3LHE| KoOE S M R A KL B B | AATHE 5H 8H 9RE40%
KB R K A A R
G KEEAKARY =F L (PE) ¢50 L =69.7m (70.0m) ¥EHBTEOHMB (TN /KERIEAFEESE LV
FaoKAERR N= 2 f&fr
14 4 %A 2, 640, 0001 TEMAE (Biik) 2,590, 0001 oA O O |[E] A ( M)
[ 1 =] 5 2 [A]
A L ¥ F A — I £
A L %H JIE A7 A L #E JIE A7
(BR) HHA—Y /T3 2,570,000 2
(F) B 2,400,000 1 TEAL %FLER 92.66%
NI Rk GE (FR) 2,730,000 5
JI 0 A AR 2,660, 000 4
FEBETE (8) 2,600,000 3




A L i ®= =
Gy SFn TR K & |TEEEEBEAEE - BiKE T F B 17 % P |\ & B AR HN
JEAT WM | 74 SHISAAL A T4 9H12H  HE jl ] K A FLH K | BF0 TH BH 8H 9RF504)
i L RS A EE - Bk T35
HLBE - BhKekE T3
G ‘ EFREOHB | ALK EAEES LY
51—0 1## 1
- 51—0 3## 130
51—0 54 1
R | 15, 235, 0004 TEMAE (Biik) 14, 202, 000 oA & |- [F] (13,065, 840H)
[ 1 (=] 5 2 [E]
A L ¥ F A — I £
A L #H JIE A3 A L # JIE A7
() HEBIEN 14, 000, 000| 3
k) 77aT v 14, 000, 000| 3
FEBIETHE () 13,990, 000| 2
S (BR) 13, 850, 000| 1 AL %FLER 97.52%
() Brhigih)s 14, 400, 000| 5




